AUoeic aokhoswv #5

AZKHZH 1:

18 x 10 =180 7,3 x100 = 730 345,712 : 1.000 = 0,345712
2,8 x 100 = 280 0,6 x 1.000 = 600 1.000.000 : 1.000 = 1.000
456 x 1,000 = 456.000 148,25 x 1.000 = 148.250 896.402 : 1,000 = 896,402
76,09 x 10 = 760,9 32:10=3,2 62,7 :100 = 0,627
8,02 x10=80,2 8,3:100=0,083 10.000 : 100 =100
AZKHZH 2: AZKHZH 3:

A)0,86 x10=8,6 € 6,8 x 1.000 = 6.800 kIAG cival To

OUVOAIKG Pdpog
B) 0,86 x 100 = 86 €

M 0,86 x 1.000 = 860 €

AZKHZH 4 : Ta unSevikd oto TéAog
Ttou SekadLkou

2,34<4,32 1514 <1541 2,360>2,35 apBpoL Sev éxouv
aglalll

4,75=4,750 7,320>7,230 5390<54

9,99+<10 8,4 = 8,400 3,54 < 3,541
AZKHZH 5:
Ava 0,05
510 5,15 5,20 5,25 5,30 5,35 5,40 5,45
5,50
Ava 0,50

1 150 2 2,50 3 3,50 4 4,50 5



Ava 1,50

150 3 450 6 7,50 9 10,50 12 13,50
AZKHZH 6:
0,7k.= 7 ypauy. 70 ypapy. 700 ypapy. MNa va Guundw!!!
0,01 tévor = 10 kiAd 100 kIAG 1 tévog 1 kiA6 =1.000 ypapy.
3,9 16vor = 39 kiAa 390 KkiAd 3.900 kiAd 1 tévoc =1.000 kiAG
1,45 = 145 ¢k. 145 k. 1.450 ek. 7

10,8 p. = 108 dek. 1.080 dek. 1,08 dek.

AZKHZH 7:
3,42 + 8,458 = 97,009 + 3,488 = 7-0,003 = 156,3-9,45=
3,420 97,009 7,000 156,30
+ 8,458 + 3,488 - 0,003 - 9,45

11,878 100,497 6,997 146,85



